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Chel: Lo ETAE 2GRH (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
MIOL=CIAIE 293 1,045,070 1,096,664 A51,594
< 209,014
e 836,056
301 et d s 1,045,070 1,096,664 A51,594
= 209,014
s 836,056
01 MEIBEZE 05z 1,045,070 1,096,664 A 51,594
OMI=QIAIL 2SI X2 (140 4) 1,045,070
= 209,014
i 836,056
Z2Y SEI| Hgd N 532,500 525,000 7,500
= 133,125
< 232,539
[ia 166,836
301 et a =z 532,500 525,000 7,500
2 133,125
< 232,539
[ia 166,836
01 AR 2Z A5l 3 532,500 525,000 7,500
Oz s&J| ¢ed XA 532,500
2 133,125
< 232,539
i 166,836
Codlsy 25010 23 10,000 22,000 £ 12,000
< 5,000
s 5,000
402 2I2H X201 A 10,000 22,000 A 12,000
< 5,000
s 5,000
01 RIZEAt=2E X 10,000 22,000 A 12,000
OIT 88 Lollsy 25217 Hgea
5,000,000 *204 2~ 10,000
< 5,000
s 5,000
IPACHMXTEH D] & X 8,000 4,800 3,200
< 4,000
[ia 4,000
402 QI2H X201 M 8,000 4,800 3,200
< 4,000
s 4,000
01 RIZEAr=2 82 X 8,000 4,800 3,200
OFRY JNAGHHEI| LK
160, 0003 5001 2 8,000
< 4,000
s 4,000
LOQUNL BHE 508,484 0 508,484
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HH: Lol =X =X
Sl LOSXAL SHX CERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
o 3,427
301 L2 LS 105,126 0 105, 126
= 26,281
< 23,654
e 55,191
01 MEIBEZE 05z 105,126 0 105, 126
oZzg g=22= A& 105,126
2 26,281
< 23,654
s 55,191
Lol MEoty 14,006,668 14,295,394 A 288,726
= 11,650,826
= 539,008
s 1,816,834
Lol MEOLE X 534,400 544,000 A 9,600
301 L2 AF 428,900 364,000 64,900
01 MEI2BE X263 423,900 359,000 64,900
QX222 (87M 0l &) 50,0003 *699H 123 419,400
O&a=L0l MAZG I8 S (95M014H)
50,000& »90H 4,500
10 ALAHI 2 A3 5,000 5,000 0
ONMoIEEHI(E - 5Y) A4
2,000,000& x23| 4,000
OFIIUa(E - 5Y) FAE4  500,0008 *23] 1,000
307 21201 A 80,500 150,000 A 69,500
04 QIZHSH AL = 7,000 87,000 280,000
S8 Lo g4 HOESUHS 3,000
g8 Lo d8 FIItHs 4,000
10 A3l S X2 X 73,500 63,000 10,500
Ooust=ols FZ2X3 ARA 22X 18,100
OogazLols Leolgs 29XA 14,400
OLolis 2N A (W= HOH, 2, L)
5,000,000 *40H 2 20,000
Ost@ae HM1E st 232 XA
300,000& 70X 21,000
402 RI2EX=20l A 25,000 30,000 25,000
01 QIZERI2E X 25,000 30,000 25,000
OSHE & Iz II=2] HE=
5,000,000& 5= 25,000
INEYHBN S 12,353,762 12,505,017 A 151,255
= 11,118,386
< 247,075
s 988,301
301 L2 A= 12,358,762 12,505,017 A 151,255
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A FOUMET R D
HH: Lo =X B
el ol MEOHE CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
[ 500
- 500
01 2L Y| 2,000 1,000 1,000
O Rl XNIANE =X 2,000
= 1,000
& 500
= 500
307 2Iz2t0| & 269,580 284,950 N 15,370
= 134,790
= 67,395
= 67,395
05 QIZ2tREF 2 269,580 284,950 A 15,370
OkoldXtel XA 269,580
= 134,790
= 67,395
= 67,395
SHed AFREXE X & 2,200 4,500 A2,300
201 2Et24Hy| 1,000 3,000 A 2,000
01 AP 22| d| 1,000 3,000 A 2,000
OdHAANXEX 20 500,000& *x23] 1,000
301 et A= 1,200 1,500 A 300
01 Al E& A 253 1,200 1,500 A 300
Ostied AP AH & HIHI 600,000 x2H 1,200
dEtd NAEX =4 7,000 0 7,000
== 3,500
= 3,500
402 SI2FXHE0| & 7,000 0 7,000
== 3,500
= 3,500
01 QI2t X2 X 7,000 0 7,000
Ozletd JHA XA (20HA)
3,500,000 2K A 7,000
& 3,500
= 3,500
Lol B XX} 14,598 7,299 7,299
= 7,299
= 7,299
301 LBt A= 14,598 7,299 7,299
= 7,299
= 7,299
01 AISIE&E A 252 14,598 7,299 7,299
Okol8sig XXt XA 14,598
= 7,299
= 7,299
HHEIIE=XSA 12,275,256 10,496,774 1,778,482
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Hu: (A IS=ENEA
Sl =X (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 5,279,812
J| 65,150
=2 382,864
= 3,533,605
= 3,013,825
HEEXNZ=A 872,854 787,866 84,988
2 454,634
& 171,931
o 246,289
s 23,080 21,580 1,500
201 gEt24H Y| 12,200 12,200 0
01 AP 22| d| 2,200 2,200 0
OMAIXIE X Z 550,000& »2[H*x2 2,200
03 A2 G H| 10,000 10,000 0]
OWHAEXNEX A3 200,000 x50H 10,000
202 04| 1,080 1,080 0
01 2Ll 1,080 1,080 0
OGHALEA (BHALE)
60,000 x2H «32 33| 1,080
203 R F & 1,500 0 1,500
03 AIZH =X 2= X H| 1,500 0 1,500
OHdEXNZEEFA 1,500
301 et A= 3,300 3,300 0
10 HALAHI B &2 3,300 3,300 0
OWAEXNEX WA Ba 5,000& x100™ 500
OWAEF2 D18 A A2 A 7,000 *400H 2,800
307 gizto| A 5,000 5,000 0
10 Al SXIEX 5,000 5,000 0
OgnNg st2na 2 (1HA) 5,000
O 8 CHHl o = 8 AF 5,360 11,860 6,500
301 et A= 2,360 2,360 0
10 HALAHI B A2 2,360 2,360 0
OWEEHIIRE 25 W F4
L0002 x5 %23 600
OEEHHIIE NREME A BH
7,000) *40H «23] 560
O&EU3 &EA8a 60,000 x20H 1,200
307 2Iz2t0| & 3,000 9,500 A 6,500
10 MM S X EX 3,000 9,500 6,500
OWHESMIIsSAUBIIIAIY 3,000
22320l ol 15,720 7,470 8,250
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Hu: (A IS=ENEA
Sl =X (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
= 43,983
= 5,498
= 5,498
O=1ES st=2Ed|(66Y) 2,568
= 2,054
= 257
= 257
SFEDIIES X (=) 107,144 86,976 20,168
= 53,572
= 53,572
301 et A= 107,144 86,976 20,168
= 53,572
= 53,572
01 Al E& A 252 107,144 86,976 20,168
OMEX2(180Y) 93,456
== 46,728
= 46,728
OnSsty s3(13Y) 42
o= 21
= 21
ONSsY +HE(419) 9,446
& 4,723
= 4,723
O XNEHEXZ, HHIIIEMEEE 4,200
o= 2,100
= 2,100
SHE2IE EXNSH 18,000 17,000 1,000
301 et A= 18,000 17,000 1,000
01 Al B & X 262 18,000 17,000 1,000
OMdASs BEEXNIIIE 28 N3
50,000 180 Al CH *23] 18,000
C23JIE XK (£ ) 18,060 18,060 0
= 9,030
= 9,030
301 et A= 18,060 18,060 0
& 9,030
= 9,030
01 Al B & A 46 2 18,060 18,060 0
OUR3IHE CIHYAIER2=2 X2 (100Y) 18,060
= 9,030
= 9,030
odootdiol 249 8,600 9,900 A 1,300
201 et 9| 3,800 600 3,200
01 AFR 2t 2| bl 3,200 0 3,200
OZAIE 3,200
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ZOIME X R
VPEPIEEYE+S
He=E2Xsd (2 &HH)
- _ _ RE]
SA - B .G (3AH) - MBAY - BES gﬁ‘&i HR=2
OJIEdZ= 0ol X 2 =H| 357
= 250
< 54
= 53
CIE2sts XMy 29 143,000 141,000 2,000
= 100, 100
= 21,450
= 21,450
307 QI2t0| ™ 143,000 141,000 2,000
= 100,100
= 21,450
= 21,450
05 QIZtR E S 143,000 141,000 2,000
OJlgadgdl 139,000
= 97,300
= 20,850
= 20,850
Os8HA 2| 4,000
= 2,800
& 600
= 600
CI23IIE U2 ALY 118,030 128,760 A 10,730
= 82,621
= 17,704
= 17,705
307 QI2t0| & 118,030 128,760 A 10,730
= 82,621
& 17,704
= 17,705
05 QIZ2tE 2 118,030 128,760 A 10,730
OY ALY 118,030
= 82,621
& 17,704
= 17,705
OlOl= 20| XI3AS 202,925 155,867 47,058
= 142,047
= 30,439
= 30,439
307 2Iz2to| A 202,925 155,867 47,058
= 142,047
& 30,439
= 30,439
05 QIZtR E 2 202,925 155,867 47,058
O Attt 176,846
2 123,792
= 26,527
= 26,527
(@3] 26,079
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SN FUMEXED
Hu: (A IS=ENEA
SR PEE P CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 18,255
< 3,912
e 3,912
Ct23tEXE doge X2 29,464 29,465 A
= 20,625
< 4,420
e 4,419
307 glz2+ol & 29,464 29,465 A
= 20,625
< 4,420
s 4,419
05 RIZt2 &= 29,464 29,465 A
OUEstItEs [ doge X (1HLA) 29,464
= 20,625
< 4,420
s 4,419
ZE0I2A S - HAMHIA X 26,492 13,124 13,368
= 18,544
= 3,974
s 3,974
307 21201 A 26,492 13,124 13,368
= 18,544
< 3,974
[ia 3,974
05 BIZHRIE 3 26,492 13,124 13,368
OZEO0LUX & - HAMNHIA(SHAX A 14,320
= 10,024
= 2,148
e 2,148
OZE0I2X S - HAMHIA(SHAXIAAME) 12,172
= 8,520
< 1,826
[ia 1,826
OtsHEES NGA 2SAHY 7,200 7,200 0
= 3,600
[ia 3,600
201 Let2d] 3,500 3,500 0
= 1,750
[ia 1,750
01 At 22l 3,500 3,500 0
O0tsHEEs NGl 2EAY 3,500
= 1,750
s 1,750
202 Odl 700 700 0
= 350
s 350
01 = LH 4 di 700 700 0
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Hu: (A IS=ENEA
Sl =X CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OXYAHl 2EAY 2= 700
= 350
i 350
307 21201 A 3,000 3,000 0
= 1,500
[ia 1,500
02 2t a2 X 3,000 3,000 0
O0tsd2s2d s 23| 3,000
= 1,500
i 1,500
HAEHS RIS K AS 1,909 3,067 A1,158
= 1,527
< 191
s 191
301 et 8= 1,909 3,067 A1,158
= 1,527
= 191
s 191
01 MEIEBEZE+06l= 1,909 3,067 AN1,158
O0ts 2=l 1,909
= 1,527
= 191
s 191
Ot - HE8ESXGHAN 435 4,440 0 4,440
= 2,220
< 1,110
[ia 1,110
307 21201 A 4,440 0 4,440
= 2,220
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& 11,760
307 2iz2to| & 11,760 11,760 0
& 11,760
02 QI2tAF A X 11,760 11,760 0
OXOMATHEANLSAMA EEXE 11,760
— =S SSEHE SALA 4,200
& 4,200
— 2B S A SALL 7,560
= 7,560
SSAEMWIHAZ 1,537,361 1,352,306 185,055
= 1,076,153
= 230,604
o 230,604
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